(of 3802 7//15/2s

| "
@ In Sest 1 oder (v & lioled) |/
e e~ I./

@ Exercees
- 'C/D’)‘}' 1< b&c/{

— gt —| abtlr o,cls Ecfer ter

9&149'7 ‘lD C[’)CO/? c(’ /U(/bé* 7L0
avord MNJLL phe erlris,

\wgloz/ v

—X o
Nodc # l se/HmO/&?/(naJe+ Y it ua() %
P € (L;}_=>/\/ULL)
et crarbiede (vel);
m[Q (vol 2= ot >dak) ?

nodc W'(:)v;-,f > creete Nede (val );
r\*Cu/‘@/ﬂn} - V)C\C’/‘ = 1(C7+?

) retvin new broat)

node & restlisf = (nSeotIn Of/ef(lxsf-amesc*) \/ql);

L llﬁ'} = peyt = rC.S‘fL)"gf;
Mfl’gf@%lfz % retyrn Icsf‘;




>@(€“ﬁ (\/ -
=T 5T 7 S e JT
é > @L&E | A?&/Zm,m@

- o
O List Aue RET Aal &7,/%@

) DEL 15 ifew

— Secwe pr 27 d e
- 'Qree ey |57 aote
RoArrn  Se red i F

rm—

2) Sene (,ffv ight BEFAE  _telefcd aele

e

cy')e( Q‘Hé/
(D) potch pecv 19 ofley
@ free ((f’d)

B) et O0ig Lont







